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Instructions for Candidates

1 . Write your Roll No. on the top imme diately on receipt of this question pap€r'

2. Attempt any five questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should

be used throughout the PaPer.
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(a) Explain "Profit Maximization" and "Wealth Maximization" goals. Which is

superior in your opinion for financial decision making? (10)

(b) What do you understand by Risk and Return? (5)

(o.) "an E€-dfi'6wr" vs "{qR Eqdfi-olur" f,elir- fr qnqr dfrqr ffiq
ftrt{ur q.,A i- silTff nq t qt+ qr +6d( i?

(r+) dft<t vq sRsa t enq er tr*t +?
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2. (a)

(b)

)

What is capital budgeting decision? Why is its significant for a firm? (7)

ABC Ltd. is planning to start a project which requires an initial outlay ofRs.
1,00,000 on the purchase of a machine having a life of 5 years. It is expected
to generate year ending profrt (before depreciating and taxes) of Rs. 50,000,
Rs. 30,000, Rs. 20,000 Rs. 30,000 and Rs. 40,000 from the end of first
year to the end of fifth year. Assuming that the company pays income
lax@40o/o and uses Straight line method of depreciation with no salvage,
you are required to compute:

(i) Pay Back Period

(ii) Average Rate of Return (8)

(o.) tm qq-c ft,ofq wr *? qa q,.{ + fts ft-q EnR r-6-dTt t?

(re) vff.fi. ftfrts v6 cR'+q-{r nRrr s+ * +ffir E{r {& + ftrt v+- qrt-{ * rst-{
Ir{t r,0o0o0 eiTyrft-s qRqqqdfr ilre{{s.-drt,E{{fi-{*ffi s q{
tr yrrq s{ + ird t wqA q{ * q-d ran. (1n-ers \.{ *t + X+) te* am r
5o,ooo,\. 3o,ooo,r. 2o,oo0 d 3o,ooo !rt( d 40,000 + sstd aFr sdqt6'.r+*
srm *r qa qrrt Eg fr' u.,qfr 40% +1 <t t qrffit 6l 1rril{ 6t& g oq ffi
y-on * ft<nur * fr+ rerars * ftft t€r qaR qr sv*rr.6dt *, ilc-+)
frFafur q,r qFs-ffr oii d Brrewtdr *.

(i) T*tfr a-ctu

(ii) nRs-d * *sd <{

3. (a)

(b)

What is the cost of capital? How is it important in financial decision making? (7)

Find the weighted average cost of capital through book value and market
value when the following information is provided.

Source Book Value Rs. Specific Cost Market Value Rs.

Equity Share 15,00,000 ts% 27,00,000

Preference Share 10,00,000 1 1,00,000

Debt 5,00,000 t0% 6,00,000

(8)
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(o.) 1-ff cl q-er Brr t? ffiq ft"h e+i- q-a fts y-*r< cEE$ t?

(ta) <mr 1* uh qrmR {s * qrtaq * tff d qrRd sia-d 
"rrrkr 

HkT dfrs, w{
ffit{d qn-+rt ff:rfi ir

+d q& foc (t) ftfrrq {fl <run 1u (t)
ffi Aqt 1s,00,000 t5%

Jrftflr iqr 10,00,000 t2% 1 1,00,000

uvl 5,00,000 t0% 6,00,000

A firm has sales ofRs. 15,00,000 variable cost of Rs.8,40,000 and fixed cost

of Rs. 1,20,000. It hasa debt of Rs. 9,00,000 at 9 percent and equity of Rs.

I 1,00,000.

0 What is the firm's ROI (Return of Investment)?

(ii) What are the Operating and Financial Leverage of the firm?

(iii) If the Sales drop to Rs. 9,00,000. What will be the new EBIT? Verifu. (15)

v6 s{ * frft t ts,oo,ooo, cfr{€{ai-m Errre e o,4o,ooo sfu ft+o arrn t t,zo,ooo

wg *r Eq-dFT aur 9 cfr{re drrcr (r rr 9,oo,ooo Ew cs ER{& E n,oo,ooo * lt

(i) v'{ qr fi}w vt vr< nRs-f, (RoD wr *?

(ii) w{ * c-src<rr* *{ ffiq erq er i?

( iii) qe Rft + fur+c *+-r 16 {. e po,oo0 * urft I fr cqr qrq oft, ot X{ lrrc (EBIT)

er *ft? t-erR-r dftsr

(a) Enumerate the main assumptions of the "Net Income approach of Capital

Structure. Is there an optimum capital Structure as p€r this approach." (7)

(b) Give a critical appraisal of Modigliaani - Miller Approach to the theory of
capital structure. (8)

(m) "tfr qcq-tr * gqtr inq EM"r" d qtq qrqm.1 61 \'+.-\'+' s'6 irdr{gt Et
gG-*]ur + ir$R sqr q-6 {ft rrrfir Ee:{c l?
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(re) Efi vld{r * Mo qt *RFaonft-ft-di ffiq qr sn*q-<rso rtqr+-+ dfrqr

(a) What are the objectives of Inventory Management? What are the costs

associated with inventory management. (7)

(b) Explain briefly the foltowing:

(i) Credit policy
..

. (ii) Credit Terms (8)

(m) lrcgff n-ctn + s?cq Hr i? crd(+ n-ctn t {i-e orG er i?

(<) ftraRft<-r m {&c fr q5q1 dftq:

(i) a"r * {frft

(ii) aur Efi nt

(a) Explain briefly the factors which influence the divided policy of a firm. What

are the advantages of stable dividend policy? (8)

(b) The earning per share ofthe face value ofRs. 100 of PQR Ltd. is R. 20l-.
It has a rate of return on investment of25 percent. Capitalization rate of its
risk class is 12.5 percent. If Walter's model is used:

(i) What would be the optimum payout ratio? (7)

(n) What should be the market price per share if the payout ratio is Zero?

(o) .n{ tft frtukr fffr d cqrkd q..A qre 6R-+1 d {&q { qrqr dftq r Rn aFrpr

ffi * wr arrr *?

(re) ft.qerc ftRts*t roo efr-e rs*cfrA?R.R sffio enqr 20l- +t E(ff
ftfu cr vR$-d fr qt zs vRrn tr Es+ *Rfi qrt d {fi-6{q qi l2.s nft{rt ir
qfr qr€r cusit rrr sq+rr fuqr qmr i fr:

(i) EE-fi qilnt srgvrt ( optimum payout ratio ) HI +rn ?

7

(t) vR tws-c aqcrd {q +, A yft iqr qrqr IF Eqr +{r sGs?

(200)


